Dis > w'?l". i: - "--_-_-‘Lll!""‘ .i"'al')" MUSY Snril .._.; _l.;ii” 2 1. Af !;Hz-: A —_4;'__

Stopping and Holding Duties

34to48
{1.34101.89in} 16410 172 (6.46 10 6.77 In)

(0G) @) 118 4.65in) _
2 i

e

Air [nlet Port
G 1/4 [1/4 BSP) ™

Use M10 Grade 88 —  WSSIZZRSDZICLR <

e — 7

@ r . ] _@ Mounting Bott.
T Tight Torqua P ¥
ot 46 Nm {33.93 iy bEd ; A
@' ""@ Bot ot suppled with Calper |\ :
___Ia‘ Brake Dige 46 (1.81 in}
031in) 80 (3.15 in)

Disc Brake Caliper Assembly Type MUS4

Notes: Set dimensions “X' to 8mm (0.31 in) with brake *ON', This setting corresponds to maximum Braking Force setting.
Readiust set screw (item 26) when dimension 'X' exceeds 10mm (0.39 in). To avoid damage to thruster diaphragm do not
turn the piston rod while adjusting the setscrew.

Parts List
item | Component Part No. | Qty. item | Component PartNo. | Qty.
1| Arm (Thruster Side) 6640177 1 15 j Piston Rod Plate 7250938 | 1
2 | Arm (Opposite Side) 6640178 1 16 | Spacer 1650494 3
3 __|Pivot Post 8240039 1 17__ | Comression Spring 2500191 1
4 Pad Retaining Spring 2400093 2 18 |O-Ring 6000304 1
5 9/16" Plain Washer 4700209 1 19 | Quad Seal 6000299 1
6 |M10 Plain Washer 4700208 1 20 |Pressure Washer 7200076 1
7 | Tension Spring 2400109 1 21 | M5x25 Skt Hd Cap Screw| 5400331 6
8 _|Grooved Pin 3100088 | 2 22 | MB Light Washer 4700253 | 1
9 _|Brake Pad 7080047 | 2 23 [3/4" BSP Nut 5100051 | 2
10 |Front Cap 7240934 1 24 | M5 Nut 5100195 8
11 __|Rear Gap 7240935 1 25 | M8x16 Skt Hd Cap Screw| 5400420 1
12 ! Diaphragm 7200936 1 26 |{M10x40 Hex Hd Screw | 5300268 1
13 | Thruster Spring Gap 7250940 1 27 | M10 Full Nut 5100185 | 1
14 |Piston Red 7250937 1
Technical Data MUS4:
Thruster only Part No. 7201127(S4). Disc thickness (Standard) - 8mm (C.31 in)
Caliper only Part No. 6780918. New pad dimensions- 30x50x21mm (1.18x1.97x0.83 in) thick
Complete assembly Brake pad wear allowance - 5mm {0.20 in) each pad
(Caliper and thruster) Part No. 6780924, Total pad area - 30cm?{4.65in%)
Weight (complete assembly})- 2.240kg (4.94 Ib) Minimum pressure for ful retraction - 6.2 bar (90 psi).
Minimum brake disc diameter- 150mm (5.91 in} Maximum pressure- 7 bar (102 psi)

Braking Force 2600 N (584 |bf} at coefficientof friction p = 0.38
Brake torque (Nm) = Braking force (N} x effective disc radius (m).
{Effective disc radius {m) = actual radius {m)- 0.020).

LIHIBLIM“

Transmission de Puissance



